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Romarny Numenrals

A letter placed after a greater
value adds:

XVIL=10+5+1=1=17

A letter placed before as greater
value subtracts :

XXIX =10 +10 + (10 - 1) = &9
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30
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nearest |0
54 = 50

nearest, |00
L5 = 400
55 2> 60 950 - 1,000
313> 310 | 466l > 4,700
549 > 550 |7.231 = 7.200
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Bridge Learning I
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Subtraction
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Multiplication
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Measurements

mmivacm [ 10mm = | cm 000 miry | ki
mmivam | 1000 mm = | m g v o kg 000g = | kg
em v @ m 100 em = | m mb inv a b 1000 mb= 1L [l o | LD = |
60 seconds in o minute | 60 minutes invanhour | Qb hours in one day || NG

7 days i @ week 12 months ir one year

OV

Perimeter Days v o Month

Janumy/ 3l Jubzy 3¢ | ; )| E= | ¥y
February | 28 | August a | . ¢

March, | 3l Sepi‘;ember
ApNL 30 | October L8 | £216 £220

May | 3l [November ' i ;

T T
money spent money left

Angles

Obtuse Ar\gle i b
There are 3 rows olbogriher\ :
There are 5 squUAres v as roUk Nelok
3 rows of O squares = |5 squares <180°
The area of the shape is 15 squares. _
> p— 0 S o 2= 0 = > - 2l



